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1. R @ Swn a9 el 9 2x8=16
Answer any eight questions :

(@) 3 71 ERIM x < yI W 2x -3y +4 =0
HF g =6 T, (OCIR ¢ X I I {51 2

If the relation between two variables x
and y is 2x-3y+4 =0 and gy =6, then
what should be the value of x?

) B/ @1 P EEER AW awd
AM >GM > HM.

For any two variables prove that
AM =GM = HM.
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. For a moderately skewed distribution,

mean and median are 30.6 and 29
respectively, find mode.

What do you mean by a Lorentz curye?

‘@T Ei[” X 9 Y3 W QT 7

S r? =0.64." <% figfsr
xﬁ'wﬁ@mm&mﬁ;@%j M
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is r and
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(3)

eI 7 oI o1 TR TR fesn o

Write two uses of cost of living index
numbers.

2T 91
Prove that
i (X; -X)=0
i=1
oif{1e Spisea fRAcy «fb 5 R forsi |

Write a short note on quantity index
number,

¢ e ferea 6 g, o |

Write what you mean by secondary
data.

ST SRR 3T o =2

What do you mean by regression
equations?

B e 1 R B 1 o MR E o S AT G E I G
ey 90

State the factors responsible for the
long-term trends in a time series.
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(1)

(i)

Height (iﬂch,es)
I3 3733y

No. of Persons :

8P/280

i1
60-162 163-165 166-

(4)

N e TR G 7o iﬁ'[ -

IS regarded as the best
measure of centrg] tendency

(Fill up the blank)

TR RyEm
TR BN o B
T TS 5200 Fo1 AF

4,200 597 | zmors
ﬁ%ﬁnﬁsqm?l F TR

€mployees of 5
€ mean mon

thly salary of 500
Company is ¥ 5,000,
thly salary of male
and ¥4 500 PlOYees are ¥ 5,200
Mumber of oo e Find the
Company,. © employees of the

; MRIRA R )
‘{ﬁqgmwwﬁ%‘%ﬁ‘ﬁs?@a

2 54

/ 81 24

(iv)

(5)

wee fig Remmd AR =0 G T4
fRvee g <4 - 7

Calculate mean deviation from
median for the following data :

WAegd (1) : 2040 40-60 60-80 80-100 100-120
Daily wages(¥)

7 R
'No. of
Employees)

rof 7 (5)
Daily wages(¥)

3@? TR
(No. of
Employees)

(b)

t
)

168 160-171 172-174 |
|

i
8P/280

( Continued ||

(i

(@)

6 9 11 14 20

. 120-140 140-160 160-180 180-200

15 10 8 7

1231/ Or

_ tam R R @61 @RS
oS | (A BT FM) 1
is a graphic method of

studying dispersion.
(Fill up the blank)

s A ST pEe eifend oiafed
S{RUPTTR AT 7 | 3
Discuss the advantages of sampling

method over complete enumeration
method.
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*- Income(¥)

=S A0

(6)

(ﬁ)wﬁm@ﬁmwwwmm

No. of Persons

39 (Marks)
RIGT 7230

No. of SHIdems ;

3. (a)

8P/280

(iv)

1)

(@)

fefy 1 -

Calculate quartile deviation from
the data given below :

30-34 3537 3840 4143

14 62 99 18 7

:\Eﬁm@mwﬁm\wwmﬁ@

falculate the coefficient of variation
rom the datg given below -

0-10  10-20

8 13

20-30 3040

16 8 5

{ Continued

40-50

(iii)

i

44-50

(7)

oo AH ©YE [l Il (AEIGAT AATH
QI A AT 40 :

Calculate Karl Pearson’s coefficient
of correlation from the data given
below :

n=12, Sdx = -5, £dy = -6, Ldx? =225

(iv)

X
YiRs

B )

‘K

i (ii)

8P/280

S dy? =704, Tdxdy =306

wore fRal O RT SRR AW 16T
Sferea :

Find the two regression equations
from the data given below :

146 152 158 164 170 176 182
76t TR 7 TG NN S 2R B SR 86

1241/ Or

IS o AeE A |
(RT3 *fF F4T)

The range of rank correlation
coefficient is

(Fill up the blank)

oI T @ FlE I AT N
T @ [ 9% IR G99 e{©
frSame 1= |

Prove that Karl Pearson’s coefficient
of correlation is not dependent on

the origin and scale of
measurement.
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(iti)

(8)

wee Tl SR o[l @I AT aqE
e T 91
Calculate the value of rank
c?rrelation coefficient from the data
given below :

X:36562065423344501560

(iv)

: 50 35 70 25 58 75 60 45 80 38

THEATS AT W 2x-3y=0 Wi §~

4y-5x-8 =03

The €quations of
lines are

4y-5x-3=0_

two regression
2x-8y=0 and

& 3 B! ST X7 o Y o
am@}@ﬂmﬂa%ﬁ’m

Identify which
of th
be calleq € two can

the re 1
\ gression
€quation of X on y and which

one is th
€ regressi .
of ¥ on x gression equation

(@) e

] = -
i m"ﬁﬂx,yqumﬁ,ﬁ

Find X, 7

cquations, | | from the

|
i r*nnﬁnueﬂi

4. (@ ()

(@)

(iii)

(9)

PRI TR i IRl
fra 3 | ClEIRESRER)
____ index number satisfies factor
reversal test. (Fill up the blank)

o7 91 @ RevRE IR T 2O
o[l B |

Prove that Fisher’s index number
satisfies time reversal test.

o oS ar FNE AT T T
S i T P FE SR F-
R 2 1% AR A e

The table below gives the average
wages of a group of workers and the
cost of living index numbers.
Calculate their real wages :

2005 2006 2007 2008 2009
175

|| 929 (Year)

| —— 119 133 144 157

. (Average Wages)

f'@ﬁw-ﬁﬂi%’jﬁ?ﬂﬁi 955 102-8 101-8 1028 111-0

| (Cost of living index)

(iv) oo T oA @ FeR PpIre [

. 8P/280

T WE R Al (e @ RO
oI T 2ifec R g 90 :

Calculate Fisher’s index number
from the data given below and
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hence provre that Fisher’s index
number satisfies time reversal test :

Items

for& %

BCLSe Year

7 (57)
Price (in¥)

Mo Qo>

(B)

8P/280

8
10
7
12
6

AT
Quantity

/-Pwoocnox
\U\mwc\m

bfere

_____Current Year

¥ (53pre)

12
11
8
14
5

Price (in ¥)
e

oAf

Quantity

=

T3 / Or

CATIRT 2y |

In Paasche’s e
faken as weignt,

— R =q o
(3190 &% =5 <=1)

— quantity is

(Fill up the blank)

(11

quantity index number from the
data given below :

L refe ofere 3
Items Base Year Current Year
a7 (537) s | 3o (5T) AT
Price (inT) Quantity | Price (in¥)| Quantity
A 5 50 10 56
B 3 100 4 120
C 4 60 6 60
D 11 30 14 24
E 7/ 40 10 36 J
(iv) oo fadl O ozl SR Cr3ed @ R

oRceR et AfOCe sw PmIE: 7
Using the following data, show that

Fisher’'s index satisfies factor
reversal test :
AT ffe bfere 34
Items Base Year Current Year
y (bere) | AR e (bere) | AARAIT
Price (in €) | Quantity Price (in¥) | Quantity
A 6 50 10 56
B 2 100 b2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36
5. @@ () TR {& FEee R CEIu]

I
( Continued! 8P/280

«ft e |

Sale of oranges

(o oET) 1L

is an example of

_____in a time series.

(Fill up the blank)
( Turn Over )
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(i) IR RewTe TR AR
S 701 ot | S 2

Writ
e ;i t\t;.rlo mathematical models
1 the analysis of time series.

(ii) TS fal wym o 5 4
I ToE TS

ﬁﬁﬁﬁﬁ‘f@ﬁmﬁﬁw: 5:

From the data
trend valyeg by

given below find
using 3 yearly

=T (Ye
(Yean 2001 2002 2003 2004 5
0

TV (Values) : 3p 05 2006 200!
39 |

410 42 45 44
(V) S5 fi |
RO |
35 ger@d
Us,wﬂawlmﬁ‘fﬂw. i
in :
find %_hthe method of Jeqgt s
] € trend v square

gliven beloy - alues for the data

8P/280 Fil up the biank)

{ Continued

R&t (Sales)

(13 )

(i) <O TECEAT TR RISl @
y=12+1-44t (37 R9 1990, tI 4=
- 1 IR) T g4 [ 1995 R
ogerl (I3T Sfeed | a3
If the annual trend line equation be
y=12+1-44t (origin = 1990, t unit =
1 year), find the trend line equation
with 1995 as origin.

(i) =T T ©AF A 1, 2, 1 9 2l S

3 RN S o8 M 1l : 5
Calculate 3 yearly weighted moving
averages with weights 1, 2, 1
respectively from the data given

below :
1975 1976 1977 1978 1979 1980 1981
12 14 15 27 28 40 43

(iv) e il S o FEed S5 een e
R e I A 390 : 7
Using the method of least squares
calculate the trend values for the
data given below :

: 2001 2002 2003 2004 2005 2006 2007 2008
80 90 92 83 94 99 92 104
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